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001/ 4 A R 1,759 | 2,094 | 2,232 | 4,326 6 -6 6 0
oM & — |l 381 442 460 902 | . 440 2 1 -1 0
o12# 1~ — | 192 259 281 540 | 3 -1 1 0
021K zf 378 444 411 855 2 -4 -2 -6
031|/1 Wl 125 148 151 299 0 -2 -2 -4
032|% 1 — | 842 | 1,113 | 1,123 | 2,236 2539 3 -10 -3 -13
o33|# gl 1,022 | 1,325 | 1,371 | 2,696 | 0 -4 -7 -11
034/l n Wl 393 518 523 | 1041 | .- 5 12 7 19
1533 T B (BTN 282 340 376 716 | 1 1 2 3
041Kk mrf 125 138 138 276 509 0 -2 1 -1
152/ k2 T H(KHE)| 102 114 119 233 -2 -2 -1 -3
042 fif 134 157 164 321 -1 2 -2 0
051|fif BT 429 477 490 967 1478 10 8 -2 6
150 1 T B (P BT 225 250 261 511 ’ 0 0 3 3
053| 3 mr 246 282 298 580 657 2 2 2 4
151\ 1 T H (FHET) 31 42 35 77 1 0 1 1
054k FH 98 121 123 244 1 0 0 0
o61|% H — | 113 150 148 298 | | 017 0 0 -2 -2
o62/% H Bl 321 356 363 719 | 7 1 1 -1 0
071|7f Al 103 114 105 219 1 0 0 0
072| i Hl 121 107 112 219 0 0 0 0
073|A 7 74 89 75 164 1 0 0 0
o81|Lo22LA1T H| 265 356 357 713 1 -1 0 -1
og82|Ls2rLE2T H| 287 364 346 710 0 0 -2 -2
083/L522LA3T H| 255 341 326 667 3467 -1 -2 -3 -5
084/L522LH4T H| 264 325 335 660 | -1 -6 0 -6
085/L522LAEST H| 297 367 350 717 2 0 0 0
086|L L/ LE6T H 0 0 0 0 0 0 0 0
10146 B 1 T HA| 353 420 429 849 1 -5 -3 -8
1024k 2 T H|| 372 443 465 908 | 2,656 6 4 5 9
103|4k 3 T H|| 336 453 446 899 2 2 -1 1
112/% (b 2 T H 330 401 402 803 0 -4 -2 -6
113|F |1 3 T A 444 540 567 | 1,107 | 2,919 -4 -5 -5 -10
114|% [0 4 T H| 398 483 526 | 1,009 -3 -3 -5 -8
121)% # 5 1 T B 243 287 318 605 1 1 -1 0
1225 EH 27T H 342 420 446 866 | 2,369 -1 -2 -3 -5
1235 £ H 371 H 349 448 450 898 0 -2 -2 -4
1IB1IER A1 T H 293 424 437 861 1 0 0 0
132 R H 21 H 256 360 393 753 3632 1 0 2 2
133 A A 31 H 323 445 484 929 ’ -2 -5 -6 -11

134 &+ 5 4 T H| 406 520 569 | 1,089 1 -1 1
14158 D | 198 283 270 553 0 -2 -6 -8
1713 b 1 T A 399 604 642 | 1,246 1834 -1 -3 -5 -8
172/% |1 2 T H 181 308 280 588 | 0 -1 1 0
B 14,087 | 17,672 | 18,197 | 35,869 39 -39 -35 -74




